B EEEMR S=1/5

ek

10

N
-+ BIER $=1/10
1000
2R P18 E SHO18AE
|I \K ” Q::::::’)I ” y
| \sgr M6+ b
!
ﬁ
T g
o H 1 o%—F 1% —F
|
i
p
| $\\@Eﬁi
i 1U9—F A
) 1o%—F AUF—F N\
:I ~ 4
|
k_ _________________________________
¢10
BER (JL—Frie€) $=1/10
i}
i
[ 14 05
F|=_- © t::::::’)I °
I
I
!
]
¢
d
II
|
|
] -
d
I
p
e
|
h_ _________________________________

BES-RUBAE Ak PUSE (EEHIME) 31 5008
JL—FUIRILEEE BER7 VI ILEeHMHY)
SEGE kg - - - 121000

ErER $=1/10

A EuAstRUBEE KiE

i PUSE! (EESEMERTA) 3%& 500B 4" L-70" RIL FEE (T FILHY)
&R ZES ER B TH27%6A18AH

X7 HER % Z-S—-A—-150618-016

@R $=1/10

| \j

il

750 1000
SHOIBREAE | 60560 500
T
| . ﬂ =
o { o AP
= A i & <
Yl “
] 78 844 78
S
= P P
- 90 150
= K\ %// = R B
/N < =
@/‘ &
610 -
40
EE (JL—FoJ4ad) $=1/10 FEE (FL—Fryiae) $=1/10

1

il
/;::

R4 X - A3(1/10)

h7 ) IEKARH




